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TDP |General] 5th Bemester Ex
| Heold in 20232 )

'-'-' MI

{ General )

Full Marks 1 40

Time 1 2 houre
The figures in the o indicate fll morks
\ CHRoLe—A

| Bumarical Analysis |
| Mdarics - 20 )
Answer any teo quesiions
1. fa) Prowve that

1f, &% & at
De—-jA-—~1+—="— 4=
w2z .

where the mymbola have thew watial
memrings. &
i) Derive numerical differentiation
formulae for fxy) and [7rg) based on
Newton's forwurd interpodation formula. 5

212203 ( Tiwm Qe



22M /203

Compute oane positive root of
Ax-ainx-5=0 by bisection method,
correct W three declmal points. 5

Find the lnverse of the given matrix by
Gauss-Jordan method - 5

40

Evaluate [

;c"‘dl

B o =
W) -

by dividing the mange of integrution into
4 equal intervals using Simpson's ird
rule. 5

Solve the following linear equations by

CGauas-Jordan method : 5
2x42ysz~-1
2v2y+32=4
¥ey+rz=3

{ Conftnred )

1 3)

Grour—a
{ Computer Scleance )
| Marks | 20)

Answer any two questions

4. [a} What s header filc? State two cxamples
of header filke in C.

b Write down the purpose of # defined
in C.

fe  Wrile c assignment statement to
evaluate the following equations |

) Area=ur® +22h

&) 5=Jo? ¢o* -2ab

3e24[T %42}~ 10

8. m/ Wnte a C progmm to convert a given
tempernture in Pahrenheit to Celsius.

fy Pind the output of the illowing
program :
ln:inn
nt a=~100;
printlf™ed/n", as+)
pontifT%d/n®, ++a);
I

fe}  What in awitch statement in C program?
4423+3=)0

22M /203 { Tum Ouer )



[ % |}

6. [ Wrke a C program to fnd e reverse of
8 number

i Write & C program to check whether a
number i3 cven or oeld deZed=1D

#* & &
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TDP [Genernl) 5th Semester Exnm., 2020
| Hald ian 20321 )
MATHEMATICS

| General )
FIFTH PAFLH
Pull Marks © 40
Time @ 2 lemirn

Scantific caleulator is afieced
OROUT—A
| ¥umerical Analfyaia )
| Marks = 20 )
Arnswer any tWo quesilons

1. fo) Deduce Lagranpe's interpolaton Somuls. 5
M) Computs a real root of Lhe ogustion
bogp x =oons, by regulafale methad,

correct (o 4 significant lgunres 5

13-21 /x30a { Turn Oveer |



2. [a}

b

(2)

Find by Newton-Raphson methed, a real
root of the equation lcx-cosx- 1«0,
correet 10 four decunal places.

A curve is drawn to pass through the
points [x, wh (=0 L2 3 4.5 6 given in
the followmng table -

x |[10|15)20]|25|30|35]40

¥y |20[24127|28|30[26]|21

13-21/220a

Using the abuve table, find the area
bounded by the curve, the x-axis and the
lines x =1, x =4, correct to 3 significant
figures,

Find the inverse of the following matrix

by Gauss-Jordan method |

133
1 43
1 3 4

The angle of rotation § (In radians) of &
rod for various values of I (in seronds) ia
given below -

t | O 04 0y 12
6 | 0 | 0493 | 02022 | 4666

Find the sngular welocity when [(«1»
correct to 4 significant figures,

S

{ Continued )

4. fa)

8. (a)

L

8, )

il

fe)

13-21—800/2320a

(3]

GrOUr—p
| Computer Sclance |
( Marks | 20)
Answer any two questions
What do you mean by damtype in C?
State exmmples.

Write a C program 1w find the sum of
digts of a number.

Write any four types of logical operator
used in C and give one maample of each.
3+4+3=10

Write & C program to chock whether &
year |s leap year or not

Explain briefly the conoept of armay with
example.

Write & € program to find the area of &
circie. 44343~10

Write o € program to check whether &
number is palindrome or not.

Write a C program to print even numbers
from | to 100,

Write & ahort note on felise, 44442=10

-k w
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(4)

& Write short notes on
WV el
M do-while

k) What do you mesn by arrsy? e de2=10
6 & Write a C progmam to ind the reverse of &
numbey.

& Write short notes on |
N Relational operator
fa) Asalgnnent operator

fr) Explain the functioning of “Sreak’

statement. 4+d22=10

L2 5
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8-5/MTMG/0S5/19

TDP/TDPH [Oeneral) 5th Semeeter
Exam., 2019

MATHEMATICS
[ CGeneral )

FIFTH PAPER

Full Novks * 40
Time - 2 honms

The figures in the mangin sndicate full morks
Jor the guestions

Use separate answer-scripe for each Group

Groupr—A
( Numerical Anatysis )
| Marka: 20)
Answer any two Questioes
Lo Given Usgx,exx;sxax,, find
relattve  percentage error  in the

computation of U st x -2104,
£y « 14935 and Xy «(B45.

mwmmsmw
formuula

A0M/ 147 { Twrn Over )



fc)

2. fa)

IM/14Ta

mmmd!'ﬂﬂmm
following table

r . 01 02 03 04
v=rfix):

I'I0SI7 122140 1-34986 149182
2+4+3-10

Show that u’-n%a" {Symbols have
thetr usual meaning,)

Evaluate wpproximately, by trapesoidal
rule, the integral

ﬁﬂl-h’lﬂt. by taking n = 10

Compute also the exact integral and find
the abaolute and relative srvors.
The following tahle gives
X =0 ¥ 2 X 8
fix): 3 6 11 18 27

What is the form of the function [ (x)?
24444~10

method :
Xy +2xy +x,; =8
2 +3xy +4xy =20
4x) 32, 4 2x43 =16

{ Condirtuexd )

) Given the table of y= f(x)

4

5. fa)

20M/147a

X 1 15 2 x5
Sx) | 0 | 04055 | 06931 | 09163

Pind the value of /°R.3) and /"R-3

Evaluate A’@e”), taking h = 1. (Symbols
have their ususl meaning ) 4+4+2-10

Grour-—-B
| Computer Science |
| Marka : 20)
Anywer any twe guestiona

Write n © program to check whether a
year |8 isap-year or not.

What is header flle? State two cxamples
of header file in C.

Dlstb\gnhh between datatype (0t and
543+2=10

Write & C program to generate the serics
of even numbers up to nth term where n
is the input.

{ Turn Over )
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TDP (General) 5th Semester Exam., 2018

MATHEMATICS
( General )

FIFTH PAPER

Full Marks : 40
Time : 2 hours

The figures in the margin indicate full marks
for the questions

GROUP—A
( Numerical Analysis )
( Marks : 20 )
Answer any two questions

Allowed to use scientific calculator

1. @) Show that AsE -1
(Symbols have their usual meaning.)

(b) Deduce Newton's Backward
interpolation formula.

fc) Compute a real root of the following
equation by bisection method correct to

three decimal places x> -3x-5=0.
2+4+4=10

M9/146a ( Turn Over )



19/ 148a

2. ) An sppraxmate value of 8 s given by

314378152 and s true walue s
Y 14159265, Find absclute and reiative
error.

By Simpeon's §rd rule, find the vahue of
:”ma. taking n =8, correct to
five significant figures.

Scive the following equations by Gauss
elimination method :

xeyesn®
2x-Jy+4s-13
Jz+dy+52=40 344+3+10

nmm(-:-)x’-zx-l.mn-u.
(Symbols have their usual meaning )

Find the lnverse of the given matrix by
Causs-Jordan method :

Grour—B
| Computer Bclence )

| Marks : 20 |
Answer any two questions

Write a C program to print all prime
numbers between 1 to 200,

M Whal is keyword? State two keywords

6 )

M9—-800/148a

in C.

With the help of suitable example,

explain the functioning of wswitch
4+2+4-10

Write a C progmmme 10 find the largest
among 10 oumbers using mrray. 5+5~10

LA R
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TDP (General) S5th Semester Exam., 2016

MATHEMATICS
( General )

FIFTH PAPER

Full Marks : 40
TNime : 2 hours

The figures in the margin indicate full marks
for the questions

GROUP—A
( Numerical Analysis )
( Marks : 20)
Answer any two questions

Allowed to use scientific calculator

1. (a) Find the absolute error and relative '
error in x,, when x; =1, x, =0-333.

(b) Deduce Newton’'s forward difference
interpolation formula.

fc) Compute the integral
1 dx
L’ l1+x
by Simpson’s 1rd rule and then use it
to compute the value of log, 2. 2+4+4=10

M7/212a ( Turn Over )



M7/213a

Prove that B = | + 4, where the symbole
have their usual mesnings.

Bvaluate P85 using Newton's
beckwurd  difference  interpolation
formula from the following dats :

g : 9O i 2 3 .
fa: 1 15 22 3 &

Find the positive toot of =¥ - 2«10,
correct 10 three decimal places, wNng
Newton-Raphson method 2+4+4-10

Prove that A Ve3-V,
(Symbals have thetr usual mesnings. )
Pind & poaitive root of the egquation

2 -4x -9 =0 using bmsection method
correct up 1o four sygnificant fgures.

Using the Gauss-Jordan method, find
the inverse of the matrix

L3

2+4+4-10

{ Contwssed )

5. v

6 faj

M7 —1040/213=

Grour-8

{ Computer Gclenos )
{ Marks: 20)

Answer any twe quostons

Explain different data types wariable
in C in detall with example of each. 4

Write & progmmme in C © wrmange
10 integers i descending order usng
array. L

How do you declare & variable in C?
What are token and hesder file in C?
+1+1=4

Write a C programme to read a year as
an input knd Mind whether it is loap year
or not 6

N Explain different types of loop in C
with myniax and example

W What s the funcuon of Taeak
siatement’ In C7 3+2=5

Writs a C programme 1o check whether
& pven number I prume of Not 5

dan
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